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AL=PSPN
7= (OMR : optical mark reader)

=7|(OCR : optical character reader)

XHEk=7[(MICR : magnetic ink character reader)

E Tr=7|(BCR, Bar Code Reader)
A 704 (scanner)

C| X|E}O| X{ (Digitizer)

7| @ A 3 (Kiosk)
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IDE

(integrated drive

electronics)
Master/Slave 124 vl
EIDE
IDEE SHgalel W44EE el Aot
(Enhanced Integrated i i
471 x5 A4 7ot Ho 8.4GBY &% <14
Drive Electronics)
SCSI
small computer 7y =] of| a3k ID Foste] 770 x| A4 7k skt

system interface




RAID

RAID(redundant array of inexpensive disk)
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